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Analyse the achievements, shortcomings and
misconceptions of the Nehru Mahalanobis strategy.

(18)

The reforms of 1991 have played an important role in
accelerating the growth and performance of the Indian
Economy. Comment. (18)

Despite doing better in terms of the growth of per
capita income, India is falling behind many countries
in terms of many social indicators. Discuss and
compare India’s position in South Asia and key lessons
learnt. (18)

Explain the key economic dimensions of the
contemporary nature of caste, class and gender
disparities in India. . (18)

Even after seventy years of Independence, India’s
education and health care indicators remain grossly
unsatisfactory. Discuss. (18)
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Examine the role and challenges of agricultural
smallholdings in achieving agricultural growth, food
security and livelihoods in India. (18)

Discuss the causes and consequences of persistent

large informal sector that exist in India. (18)

What factors are responsible for slow growth of
manufacturing sector in India despite liberal economic
reforms constructed and adopted since the last quarter
century? What measures are required to be taken to
achieve the goal of rapid growth of manufacturing in
India? (18)
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